## Diocese of Hyderabad Church of Pakistan



## NARRATIVE REPORT & FINANCE REPORT

Project Title: Emergency Relief Assistance for Christian families (Affected from Flood and heavy rains)

No of beneficiaries: 70 Christian families

**Funded by: USPG** 

Implemented by: Diocese of Hyderabad-Church of Pakistan

Remittance amount: GBP 1500

Amount received in Pak Rs: Rs. 198,015

The Emergency & Relief unit of Diocese of Hyderabad, Church of Pakistan started relief work on 23<sup>rd</sup> August 2010. The Emergency & Relief Unit carefully survey the areas where Christian families were affected. The team selected Mirpurkhas village areas where mostly the converted Christian families were affected by heavy rains. One team was formed by Emergency & Relief Unit to distribute the relief items at Mirpurkhas (villages). Theses families were very poor and really need of relief assistance in this situation. Mostly the professions of the people were brick makers and cleaners and due to the heavy rains the water came into there houses, agriculture land and destroy their crops. They have no other resources to support their families in these circumstances.

On 26<sup>th</sup> August 2010 the Emergency & Relief Unit distributed the food stuff/relief bags to 70 Christian families at Mirpurkhas surrounding villages.

Below are the snaps during unloading the relief items, packing and distribution.









Packing Procedure









Loading the food stuff bags and mineral water in truck









National Identity card Verifying and taking thumb impression









The distribution in Mirpurkhas Church (Rawat Memorial Church)









The Christian families are happy and going to their homes with relief bags









The distribution of relief bags at Mirpurkhas village

Finance report
Diocese of Hyderabad, Church of Pakistan
Distribution items list
Supported by USPG
Total No. of Beneficiaries 70 Christian families
Food commodities for 20 days per family

0	Marra Nama	Quantity	Dete	F11	T - 4 - 1
S.no	Item Names	/kg	Rate	Families	Total
1	Wheat flour	10	350	70	24,500
2	Rice	3	195	70	13,650
3	Mong Pulses	1	150	70	10,500
4	Chana Pulses	1	80	70	5,600
5	Masoor Pulses	1	150	70	10,500
6	Cooking Oil	2 liter pack	280	70	19,600
7	Sugar	3	225	70	15,750
8	Tea	1 kg	200	70	14,000
9	Dry milk	1 Kg	325	70	22,750
10	Packet Salt	1 packet	13	70	910
11	Match box	1 packet	20	70	1,400
12	Mineral Water	1 bottle	27	70	1,890
13	Chilly powder	1 Packet	30	70	2,100
	Total		2045		143,150

## B. Non Food Items

S.no	Item Names	Quantity /kg	Rate	Families	Total
1	Soap	4	100	70	7,000
2	Mosquito net	2	280	70	19,600
	Total		380		26,600

## C. Transporattion Expenses

		Quantity			
S.no	Item Names	/kg	Rate	Families	Total
1	Transporation				25,000
2	Reminueration to Volunteer workers				2,000
3	Unforeseen expenses				1,000
	Total				28,000

**Total (A+B+C)** 197,750

Funds received 198,015

Balance amount 265

Emergency and Relief Unit on behalf of the Diocese of Hyderabad-Church of Pakistan, and the vulnerable Christian community would like to extend its deepest appreciation to the USPG for their generosity and financial support in the midst of all chaos. And we look forward to strengthen this relation in coming days.

Respectfully Submitted by:

Sunil Younus **Emergency & Relief Unit**Diocese of Hyderabad

Church of Pakistan